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void swap (int *px, int *py) X: 1
{

0x304
int x = *px; 0x308
int y = *py;
px = y;
*py = x; 0x200 0x204

int main ()
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int x = *px;

int y = *py;
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int main ()

int x = 1;
int y = 2;
swap (&x, &y);
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void swap (int *px,
{
int x = *px;

int y = *py;

int main ()

int x = 1;
int v = 2;
swap (&x, &y):;

int *py)
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int main ()

int x = 1;
int y = 2;
swap (&x, &y):;
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void swap (int *px, int *py)

{

int x = *px;
int y = *py; 2 N\
spx = y; Control returns to main!

| *py = X; S )
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mov 1l
subl
mov 1
mov 1l
leal
pushl
leal
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call
addl
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o
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$16, %esp
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$2, -8 (%ebp)
-8 (%ebp), %eax
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-4 (%ebp), %Seax
seax

swap

S8, %esp
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return address
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Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

0x108
0x104




swap:
pushl
movl
subl
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp) , %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

%eax

py:
pX:

0x108
0x104




swap:
pushl
movl
subl
mov 1l
movl
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

%eax

py:
pX:

0x108
0x104




swap:

pushl  %ebp 0x108
movl %esp, %ebp 0x104
subl $16, %esp .

movl 8 (%ebp), %eax Py

movl (%eax), %eax pX:

movl seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), S%Seax

movl $eax, -8 (%ebp)

(%eax) = M[Ox108] = 1

movl 12 (5ebp), %eax

mov1l -4 (%ebp), %edx %eax

movl zedx, (%eax)

leave

ret



swap:
pushl
movl
subl
mov 1l
movl
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

%eax

0x108
0x104




swap:
pushl
movl
subl
mov 1l
mov 1l
movl
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
%eax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

%eax

0x108
0x104




swap:
pushl
movl
subl
mov 1l
mov 1l
movl
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
%eax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

%eax

0x108
0x104




swap:
pushl
movl
subl
mov 1l
mov 1l
movl
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
%eax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,
Tedx, (%eax)

eax

%
3

edx

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), S%Seax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,
Tedx, (%eax)

eax

%
3

edx

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
movl
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

%eax

0x108
0x104

in swap()



swap:

pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
movl
mov 1l

mr\‘vr-|

sebp
sesp, %ebp

$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)

QIOQ}'\Y\\ OQQV

(%eax) = M[Ox104]

movl
movl
movl

leave

ret

12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
movl
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
movl
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

%
3

edx
Tedx, (%eax)

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
movl
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
%eax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
$edx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

o
O
$edx

[0)

Tedx, (%eax)

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
movl
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
%eax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
$edx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

o
O
$edx

[0)

Tedx, (%eax)

%eax

0x108
0x104

in swap()



swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
movl
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp
8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
%eax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
$edx, (%eax)
12 (%ebp),

-4 (5ebp) ,

eax

o
O
$edx

[0)

Tedx, (%eax)

0x108
0x104

in swap()
in swap()

%eax




swap:
pushl
movl
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
movl
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
%eax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp),

-4 (5ebp) ,
Tedx, (%eax)

eax

%
3

edx

%eax

0x108
0x104



swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 ($ebp) , %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

%eax

0x108
0x104



swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 ($ebp) , %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

0x108
0x104
py:
pX:

%eax

0x108




swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
movl
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp) , %$edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
Tedx, (%eax)

0x108
0x104
py:
pX:

%eax

0x108




swap:

pushl  %ebp 0x108
movl sesp, %ebp 0x104
subl $16, %esp

mov 1l 8 (%ebp), %eax Py-

movl (%eax), %eax pX:

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

movl Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp) , %$edx

movl Tedx, (%eax)

movl 12 (5ebp), %eax

movl -4 (%ebp), %edx % eax %edx
movl zedx, (%eax) 0x108

leave

ret



swap:

pushl  %ebp 0x108
movl sesp, %ebp 0x104
subl $16, %esp

mov 1l 8 (%ebp), %eax Py-

movl (%eax), %eax pX:

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

movl Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp), %edx

movl $edx, (%eax)

movl 12 (5ebp), %eax

movl -4 (%ebp), %edx % eax %edx
movl zedx, (%eax) 0x108

leave

ret



swap:

pushl  %ebp 0x108
T-I o/'\C"Y\ of\}'\‘r\

e y: 0x104

su (o)

o (Aeax) = M[@Xl@g] py:

movl (%eax), %eax pX:

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

mov1l Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp), %edx

movl %$edx, (%eax)

movl 12 (5ebp), %eax

movl -4 (%ebp), %edx %eax %edx
1 sedx, (%

mov edx, (%eax) 0x108

leave

ret



swap:

pushl  %ebp 0x108
movl sesp, %ebp 0x104
subl $16, %esp

mov 1l 8 (%ebp), %eax Py-

movl (%eax), %eax pX:

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

movl Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp), %edx

movl $edx, (%eax)

movl 12 (5ebp), %eax

movl -4 (%ebp), %edx % eax %edx
movl zedx, (%eax) 0x108

leave

ret



swap:

pushl  %ebp 0x108
movl sesp, %ebp 0x104
subl $16, %esp

mov 1l 8 (%ebp), %eax Py-

movl (%eax), %eax pX:

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

movl Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp), %edx

movl $edx, (%eax)

movl 12 (5ebp), %eax

movl -4 (%ebp), %edx % eax %edx
movl zedx, (%eax) 0x108

leave

ret



swap:

pushl  %ebp 0x108
movl sesp, %ebp 0x104
subl $16, %esp

mov 1l 8 (%ebp), %eax Py-

movl (%eax), %eax pX:

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

movl Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp), %edx

movl Tedx, (%eax)

movl 12 (%ebp) , %eax

movl -4 (%ebp), %edx % eax %edx
movl zedx, (%eax) 0x108

leave

ret



swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (%ebp) , %eax
-4 (%ebp), %edx
Tedx, (%eax)

%eax

0x108
0x104

%edx




swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp) , %edx
Tedx, (%eax)

%eax

0x108
0x104

%edx




swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp) , %edx
Tedx, (%eax)

%eax

0x108
0x104

%edx




swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
$edx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
%$edx, (%eax)

%eax

0x108
0x104

%edx




swap:

pushl  %ebp 0x108
Moyl 2onon  Sokn 0x104
- (%eax) = M[ox10e4]

movl (%eax), %eax

mov 1l seax, -4 (%ebp)

movl 12 (%ebp), %eax

movl (%eax), %eax

movl Yeax, -8 (%ebp)

movl 8 (%ebp), %eax

movl -8 (%ebp), %edx

movl Tedx, (%eax)

movl 12 (5ebp), %eax

movl -4 (%ebp), %edx % eax %edx
movl %$edx, (%eax)

leave

ret



swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
$edx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
%$edx, (%eax)

%eax

0x108
0x104

%edx




swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
$edx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx
%$edx, (%eax)

%eax

0x108
0x104

%edx




swap:
pushl
mov 1l
subl
mov 1l
mov 1l
mov 1l
movl
mov 1l
mov 1l
movl
mov 1l
mov 1l
mov 1l
movl
movl
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
Yeax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx

[0)

Tedx, (%eax)

%eax

0x108
0x104

%edx




swap:
pushl
movl
subl
mov 1
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1
mov 1l
mov 1l
mov 1l
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
-8 (%ebp)
8 (%ebp), %eax

seax,

-8 (%ebp), %edx
Tedx, (%eax)

12 (5ebp), %eax
-4 (%ebp), %edx

Tedx, (%eax)

2

1
py: 0x104
pX: 0x108

return address

Saved %ebp

%eax

0x104

0x108
0x104

%edx



swap:
pushl
movl
subl
mov 1
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1
mov 1l
mov 1l
mov 1l
leave
ret

sebp

sesp, %sebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
seax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx

Tedx, (%eax)

2
1
py: 0x104
pX: 0x108
return address
Y%eax
0x104

0x108
0x104

%edx



swap:
pushl
movl
subl
mov 1
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1
mov 1l
mov 1l
mov 1l
leave
ret

sebp

sesp, %sebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
seax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx

Tedx, (%eax)

2
1
py: 0x104
pX: 0x108
return address
Y%eax
0x104

0x108
0x104

%edx



swap:
pushl
movl
subl
mov 1
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1l
mov 1
mov 1l
mov 1l
mov 1l
leave
ret

sebp

sesp, %ebp
$16, %esp

8 (%ebp), %eax
(%eax), %eax
seax, -4 (%ebp)
12 (%ebp), %eax
(%eax), %eax
seax, -8 (%ebp)
8 (%ebp), %eax
-8 (%ebp), %edx
Tedx, (%eax)
12 (5ebp), %eax
-4 (%ebp), %edx

Tedx, (%eax)

2 0x108
1 0x104
py: 0x104
pX: 0x108 |« [%esp |
Y%eax %edx
0x104







main:
pushl
movl
subl
mov 1l
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp caller's frame
esp, %ebp

return address

$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %Seax
Feax

-4 (%ebp), %eax

seax
swap
$8, %esp




main:

pushl
movl
subl
mov 1l
mov 1l
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

esp, %ebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %eax
Feax

-4 (%ebp), %eax
seax

swap

$8, %esp

caller’s frame

return address




main:

pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

sesp, Sebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %Seax
seax

-4 (%ebp), %eax
seax

swap

$8, %esp

py:
pX:

caller’s frame

return address

Saved %ebp

2

1

&x




main:

pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

sesp, Sebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %Seax
seax

-4 (%ebp), %eax
seax

swap

$8, %esp

caller’s frame

return address

Saved %ebp

2

1




main:

pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

sesp, Sebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %Seax
seax

-4 (%ebp), %eax
seax

swap

S8, %esp

caller’s frame

return address

Saved %ebp

2

1




main:

pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

esp, %ebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %Seax
seax

-4 (%ebp), %eax
seax

swap

S8, %esp

caller’s frame

return address

Saved %ebp




main:

pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

sesp, Sebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %eax
seax

-4 (%ebp), %Seax
seax

swap

S8, %esp

caller’s frame

return address




main:
pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

sesp, Sebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %eax
seax

-4 (%ebp), %Seax
seax

swap

S8, %esp

caller’s frame

return address




main:
pushl
mov 1l
subl
mov 1
movl
leal
pushl
leal
pushl
call
addl
leave
ret

o

sebp

sesp, Sebp
$16, %esp

$1, -4 (%ebp)
$2, -8 (%ebp)
-8 (%ebp), %eax
seax

-4 (%ebp), %Seax
seax

swap

S8, %esp

caller’s frame













